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1. Möglichkeit:             ________________ Lösung
   

   Beide Geraden ___________________ sich.

    allgemein:
   L = ____________________________
    
   hier: 
   L = ____________________________

2. Möglichkeit:             ________________ Lösung

   Beide Geraden verlaufen _________________
   

    allgemein:
   L = ____________________________
    
   hier: 
   L = ____________________________

3. Möglichkeit:             ___________________ Lösung
                                                   

   Beide Geraden sind  ___________________
   
    allgemein:
   L = ____________________________
    
   hier: 
   L = ____________________________

Lösungen: Mathematik/Gleichungen/Gleichungssysteme/Fallunterscheidungen/Info


